Rotational Equilibrium Practice Name:

1. Abolt needs to be tightened with a torque of 23 Nm. If the wrench is 0.42 m long, what force
must be applied?

2. A0.45 mlong wrench has 63 N of force applied to the end. What torque is the wrench

A =Fd
:G?NXOLI"SM
= 29.35Nn

"
Lo

3. A motor can generate 5.3 Nm of torque, an 0.23 m fan blade is connected to the motor, what
force can the end of the fan blade apply?
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4. Asee-saw is balanced with a 4.0
kg mass 1.0m from the pivot
and another object 2.0 m from ?0/\7 ,01‘1

the pivot on the other side. ‘ __________,l,_.--_- L‘.
What is the mass of the second -
object?
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5. Asee-saw has a 46 kg mass located 63 cm from the pivot, how far from the pivot should a 65 kg
mass be placed so that the see-saw balances.
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6. A3.0m long beam has mass of 12 kg and is supported by a hinge connected
to a wall and a string hanging from the ceiling.
a. What is the tension in the string?
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b. What support force is provided by the hihge?
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Rotational Equilibrium Practice

7. A 2.0 mlong beam of mass 12 kg has a 25.0 kg mass
suspended from it 0.3 m from the left side. What is
the tension in each of the support ropes?

Set P;W-F on [e*F‘/’ rope
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8. A 25 mlong bridge deck weighs 4500 kg, and has supports at either end. An 1800 kg elephant is
standing 5.0 m from one side. What supporting force is provided by each support?
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used as a bridge, there is a support on either side. A 65 kg
woman walks across the bridge. What is the greatest force

the supports must provide during her walk across the -
bridge? U ’ ,
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9. A5.0-meter-long plank of wood weighing 20.0 kg is being f
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of f\e; masy
10. A diving board wrtri ; i

supported by two supports as shown. A 56 kg Sd
diver stands on the end. What-is-theforce-acting 0 M
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11. A 1.0 metre long board of negligible mass has a 6.0 kg '
mass at one end and an 8.0 kg mass at the other. Where I ‘0/‘4 1
should the pivot be placed so the board balances? r ]
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12. A mobile is hung as shown, the rods connecting the masses have negligible mass. Ifit is in

equilibrium what at the values of
my and m;?
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